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In the past there [being / was / were] little genetic pressure to stop people from becoming

[obese / obesely].

Genetic mutations [that / in which] drove people [consume / to consume / consuming /
consumed] fewer calories [to be / was / were] [much / so / very] less likely to [pass / be
passed] on, because in an environment [where / which] food was scarcer and its hunting or
gathering [required / requiring] considerable energy outlay, an individual with that mutation

would probably die before they had a chance to reproduce.

Mutations [that / through which] in our environment of abundant food now [drive / drives /
driving] us towards obesity, on the other hand, [incorporate / incorporates / were incorporated /

was incorporated] into the population.

Things are of course very different now but the problem is [that / what] evolutionary timescales

are long.
It's only in the last century or so, approximately 0.00004 per cent of mammalian evolutionary
time, [that / which] we managed to tweak our environment to such a degree [that / to which]

we can pretty much eat [however / whatever] we want, whenever we want [it / them].

Evolution has [other / another] couple of thousand years to go before [it / they] can [catch up /

catch up with] the current reality of online food shopping and delivery.
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In the past there [was] little genetic pressure to stop people from becoming [obese].

Genetic mutations [that] drove people [to consume] fewer calories [were] [much] less likely to
[be passed] on, because in an environment [where] food was scarcer and its hunting or
gathering [required] considerable energy outlay, an individual with that mutation would probably

die before they had a chance to reproduce.

Mutations [that] in our environment of abundant food now [drive] us towards obesity, on the

other hand, [were incorporated] into the population.

Things are of course very different now but the problem is [that] evolutionary timescales are

long.
It's only in the last century or so, approximately 0.00004 per cent of mammalian evolutionary
time, [that] we managed to tweak our environment to such a degree [that] we can pretty much

eat [whatever] we want, whenever we want [it].

Evolution has [another] couple of thousand years to go before [it] can [catch up with] the

current reality of online food shopping and delivery.
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Unit 03. =2

In the past there was little genetic pressure to stop people from becoming obese. Genetic
mutations that drove people to consume fewer calories were much less likely to be passed on,
because in an environment where food was scarcer and its hunting or gathering required
considerable energy outlay, an individual with that mutation would probably die before they had
a chance to reproduce. Mutations that in our environment of abundant food now drive us
towards obesity, on the other hand, were incorporated into the population. Things are of course
very different now but the problem is that evolutionary timescales are long. It's only in the last
century or so, approximately 0.00004 per cent of mammalian evolutionary time, that we
managed to tweak our environment to such a degree that we can pretty much eat whatever we
want, whenever we want it. Evolution has another couple of thousand years to go before it can
catch up with the current reality of online food shopping and delivery.

* mutation: SH#HO| ** outlay: (HZ| &2|) &H| **x tweak: BHZsICt, +~HoICt
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In the past there was little genetic pressure to stop people from becoming obese.
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Genetic mutations that drove people to consume fewer calories were much less likely to be
passed on, because in an environment where food was scarcer and its hunting or gathering
required considerable energy outlay, an individual with that mutation would probably die before
they had a chance to reproduce.
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Mutations that in our environment of abundant food now drive us towards obesity, on the other
hand, were incorporated into the population.
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Things are of course very different now but the problem is that evolutionary timescales are long.
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It's only in the last century or so, approximately 0.00004 per cent of mammalian evolutionary
time, that we managed to tweak our environment to such a degree that we can pretty much
eat whatever we want, whenever we want it.
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Evolution has another couple of thousand years to go before it can catch up with the current
reality of online food shopping and delivery.
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